e % 419]0] ok A

Mo
2
in
P
1A
i
N,
)

@ 1000000000 @ 100000 ©] 10000 HH
® 1000 T+<] 100 =H @ 99Kt} 1 & 2

3 9999 UtHT}H 1 = &~



9] 480543210 < 23970465210

1 ® 2 @ 3




742

B 114 208

@ 74 30&

@© 34]

ald

® 124 5

@ 4A] 258









)

em JY71?

cm



=9 FHu)

&

10

HE
TH

S 5

e

202 by e,

® 7t2E 5 52 e

@ A=



8. Ao AT A7t 2, A9 A= 2A7E 8, 0.1 9 A2 247 5, 0.01
o] 22| =27F1 Ql 5 AA L.

e
=¥



9. ZL7tEA Qe vy BAVE 13.32kg YU T Bl HEY O] £
A7F0.49kgol2tH, o] BA =9 kgQlA] FoHA Q.

>R ke



10.

ZForA o] BAE 2.62kg ©]aL, 11%Fo] ] RA=

6735 T b Aot ek wokol o]
oA S,

B e kg



11.

115°

757




@ 3

10

18"
10 1

ITRAST

10

@ 4—

® 3

18"’

TS 5

17
18

@4173,

16
18



13.

ool £
219] 415t
(o3

l

]:l

ol A B2 3 B-& 750 Yol AL, AFo

50 4 T2 480

o] BrolA T4 10 ARt MFo] 5 R

L8 A ™



14. o

g, =

ocw 9l AZE Agstel 5 19 A A2 4
o) o1 1 2} S o] A G2

8 5 9 2 4 7

_E
F'_
-}

A

Al

El>



15. o= 2™l 5 719 A4 7h o, o, 2 ot M= E3d o, 4 9
o] A71& FsHA L.

45>/ j

2 ra




